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Short answer questions/problems

Problems/Essays

2.  Assume that two firms are virtually identical.  They have similar assets and the managers have similar skills.  The only significant difference is that Devon Shipping Inc. has just completed a significant debt issuance while United Shipping Inc. is funded entirely with equity.  Explain the differences you might expect to see in future projects undertaken by these two firms because of the differences in how the firms are funded.
=> issuance of bonds by Devon creates potential conflict between stockholders and bondholder

=> Devon more likely to undertake high variance projects since this benefits stockholder at expense of bondholders

=> bondholders have fixed claim while stockholders have residual claim and limited liability

=> upside benefits stockholders, downside hurts both and potentially only bondholders

=> may even undertake negative NPV projects if increases risk enough

=> Devon more likely to pass up positive NPV projects if stockholders must provide funding

=> NPV and new funds contributed by stockholders benefit both stockholders and bondholders

=> both provide cushion for bondholders that increase likelihood of being paid

=> stockholders lose if increase in stock value is less than investment made by the stockholders

=> issuance of bonds by Devon helps resolve any conflicts of interest between stockholders and managers

=> funds that were being used to overexpand the firm now used to meet debt payments

=> less total spending by firm (if firm was overinvesting).

3.  Assume you currently own shares in two different firms:  Owens Norton Inc. and Birmingham Battery Inc.  Assume that when you bought the shares, you expected Owens Norton stock to provide a higher rate of return but you also expected the stock to be more volatile.  In today’s Wall Street Journal, you read that Birmingham Battery has announced its intention to acquire Mobile Hydrogen Power Inc.  Because of the experimental nature of hydrogen power, Birmingham’s risk has risen.  However, you estimate that the potential rewards for developing this energy source increase the overall expected return on Birmingham.  Finally, because hydrogen power has less of relationship to the business of Owens Norton than batteries, you feel that the correlation between Owens Norton and Birmingham Battery has fallen.  In addition to your investment in these two firms, you have invested 10% of your wealth in Treasury Bills.  
a.  Graph your portfolio (including both stocks and T-bills) before the announcement.

b.  Assume you want to achieve the same total risk after the announcement.  Graph your new portfolio.

c.  Discuss the changes you must make in your investments to achieve your goal (link your discussion to the graphs you have drawn).

a.  Owens Norton is above and to right of Birmingham Battery.  Feasible set curves to left of points.  Optimal risky is point of tangency between risk-free rate (intercept) and line that is tangent to efficient set.  Your portfolio is 90% of way from intercept to point of tangency.

b.  After announcement, Birmingham Battery moves up and to right from where it was in part a.  Curve between points has greater bend.  Exact answer depends on how much move points.  I have the graphs drawn so that new tangency is pretty far to the left of the original tangency.  As a result, the point of tangency actually has less risk than the original portfolio (including t-bills).  
c.  Based on my graph, has less investment in Birmingham.  More importantly, sells all T-bills and borrows.
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4.  Delta Technologies has just announced that it will implement an EVA-based bonus system for all of its executives.  Prior to this announcement, Delta paid bonuses based on earnings per share to each of its employees.  At the announcement, Delta’s stock rose 10%.  Given our discussion of EVA, what might explain this reaction?

=> EVA provides a better measure of performance than earnings per share

=> earnings per share recognizes revenues and expenses in different periods than when the cash flows occur

=> earnings per share recognizes revenues when the earnings process is virtually complete and matches expenses to revenues

=> this violates the time value of money

=> EVA corrects for this violation by charging interest on any net spending not yet recognized for accrual accounting purposes

=> consistent with the time value of money and cash flow
=> under EVA, management compensation will be more closely tied to true performance

=> management is more likely to make decision in stockholder interest
5.  Assume that you have collected return data on General Motors and the S&P 500 as follows:


Return on:  

Year
GM
S&P500
2001
-7
-13

2000
-23
-10

1999
26
20

1998
27
27

Based on this information, what is your estimate of the beta of General Motors?
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6.  Netque Inc. has assets in place that have a market value of $350 million but it is considering building a new facility that will require an initial investment of $120 million.  Netque estimates that the facility will generate net cash flows that have a present value of $135 million.  The risk of the new project is higher than that of existing facilities.  This is true regardless of whether Netque measures the risk with standard deviation or with beta.  Specifically, Netque estimates that the standard deviation of returns on the new facility will be 53%.  This compares to a standard deviation of returns on existing assets of only 41%.  Netque estimates that the beta of the new facility is 1.4 compared to the beta of existing facilities of 1.3.  Despite the risk differences, the risks are actually highly related.  The correlation between the new facility and existing assets is 0.83.  The average life of Netque’s existing assets is 9 years.  The new facility will have a life of 15 years.  Because the new facility could be easily adapted to a wide range of manufacturing techniques, Netque estimates that it could easily sell the facility for $100 million any time over the next 5 years if demand for its new products does not meet expectations.  Netque estimates that the market risk premium is 8% and that the risk-free rate varies by maturity as follows (all are APRs assuming continuous compounding):  1-month = 1.30%; 1-year = 1.36%; 5-year = 3.40%; 9-year = 4.69%; 15-year = 5.35%.
What impact does the ability to sell the facility if sales do not live up to expecations have on the value of the facility to Netque?
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7.  You are considering buying a bond issued by Qsouth Inc.   This bond matures 5 years and 2 months from today for $1000 and pays a coupon of $35 every 6 months.  However, because of current cash flow crunch at Qsouth, the firm has announced it will miss the next two planned coupon payments.  You believe that Qsouth will recover and will make all payments after these next two payments are missed.  How much would you be willing to pay for this bond if you decide you must earn a return of 9.4% on the bond?
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